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LIFE SCIENCE 

LSE-09 : ANIMAL DIVERSITY-I 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 

questions from questions no. 2 to 8. 

1. (a) Fill in the blanks : 	 5x1=-5 

(i) The space between the digestive tract 
and body wall in acoelomates is filled 
with 	 

(ii) The shell in molluscs is secreted by the 

(iii) Receptors that are involved in the 
perception of touch and pressure are 
known as 	 

(iv) In spiders the spinnerets are modified 
	 located on the abdomen 
ventrally. 

(v) The first stage in the development of 
crustaceans is the 	larva. 
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(b) Give one word for each of the following : 5x1=5 

(i) The group of animals possessing both 

annelidan and arthropodan characters 

(ii) The class containing cucumber like 

echinoderms with no arms, no spipes 

and no pedicellariae 

(iii) The group of worm-like molluscs that 

do not have a shell 

(iv) Category of chemicals released by one 

animal that have a response in 

members of the same species 

(v) Asexual reproductive bodies 

freshwater sponges 

(c) 	Match the following : 

Column A 

5x1=5 

Column B 

I. Platyhelminthes A. Trypanosoma 

II. Arthropoda B. Lumbricus 

III. Mollusca C. Daphnia 

IV. Rotifera D. Nautilus 

V. Protozoa E. Planaria 

F. Vorticella 

G. Philodina 
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2. (a) List any four characters of arthropods that 
distinguish them from annelids. 	 4 

(b) Why are centipedes, millipedes and insects 
all placed in subphylum Uniramia ? 	2 

(c) Describe the excretory organs of insects. 	4 

3. Describe the process of conjugation in ciliates 
using the example of Paramecium. What are the 
advantages of encystment in protozoans ? 8+2=10 

4. Distinguish between the following pairs of 
terms : 	 4x2 1  =10 

2 

(a) Radial and Spiral cleavage 

(b) Neuronal and Hormonal coordination 

(c) Class Polyplacophora and Class Gastropods 

(d) Feeding in Sponges and Coelenterates 

5. Describe the structure of insect wings. Explain 
the mechanism of flight with the help of suitable 
diagrams. 4+6=10 

6. (a) Write the differences between the 
exoskeleton, endoskeleton and hydrostatic 
skeleton in non-chordates. Give a suitable 
example in each type. 5 

(b) With the help of diagrams, describe the 
structure of Seta and Parapodium and give 
their functions. 5 
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7. Write notes on any two of the following : 	2x5=10 

(a) Respiration by gills in non-chordates 

(b) Structure of eyes in arthropods and cephalopods 

(c) Epitoky 

8. (a) Describe the life cycle of Bombyx mori. 

Explain how silk is produced by its 

cultivation. 5 

(b) Describe the life cycle of Ancylostoma 

duodenale with the help of a diagram. 	5 
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